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Pre-Calculus Honors

@, Plot the following points on the graph below. Then convert each point to a rectangular coordinate.
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. Convert the following from rectangular form to a polar equation, and solve for
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C) Find the unit vector in the same direction as v.
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/ Femorber! ) The position vector PQ.
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B) The direction angle of the vector PQ.
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). An airplane travels 250 mph due south. There is a steady 35 mph wind with a bearing of 90°.

A) Write the component form of the velocity vector of the airplane (without wind).

* Iyl o>

B) Write the component form of the velocity vector of the airplane. ( wit~ wadrd )
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C) Write the component form of the actual velocity vector of the airplane.

SO (bt . +ypo!

D) What is the ggtq_al groimdg@of the airplane?
= (35745t = (25244 mph

) E) What is the actual compass bearing of the airplane?‘
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11. An mrplane is ﬂymg at a duectlon angle of 40°at 350 mph. A wind is blowing west at 70 mph.
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CUMULATIVE REVIEW SECTION:

Find ALL roots of the polynomial given. Leave ALL answers exact (NO DECIMALS!). Show work!
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14. A polynomial in expanded form with roots 4 and -3 +2i.
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Solve the following Rational Equations (SHOW WORK).
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19. Given the function g(x) = x* — 6x3 + 17x% — 24x + 52 and the fact that 3 — 2i is one of the zeros, find all of the

other zeros. 220 f ‘ - 3 -2y 52 R_ the tonjugate IS alsa a zero!
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